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Syntax

Write out the letters of the Greek alphabet, not the names. Watch carefully how high 
and how low you draw the characters. One point per correct character. Do not forget the 
one letter that has two forms. (If you are a distance learner, ask you teacher how he/she 
wants you to turn this part of the quiz in.)

1. What are the seven Greek vowels (letters, not names)?

a e h i o u w

2. What are the four situations in which the gamma is pronounced as a “n” sound 
What is it called when it is so pronounced? gamma nasal

a. before g

b. before k

c. before c

d. before x

3. What are the names of the two “breathing” marks? What sound do they create? 
When are they used?

Names: Rough breathing mark (  J) , Smooth breathing mark (  j)

Sounds: Rough breathing sounds like the English letter “h,” Smooth breathing 
does not affect pronunciation

When used: If the first letter of a word is upsilon (u) or rho (r), the breathing 
mark is always a rough breathing mark. Otherwise, either a rough breathing 

or a smooth breathing mark could be used, depending upon the word.

4. What is the definition of a diphthong?

Two or more vowels side-by-side that make one sound

a

e

i

n

r

u

b

z

k

x

s

f

g

h

l

o

V

y

d

q

m

p

t

w
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5. When is an iota not pronounced?

When it is subscripted
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Vocabulary

1. grafhv - writing, scripture

2. dovxa - glory, majesty, fame

3. zwhv - life

4. kovsmoV - world, universe, humankind

5. fwnhv - sound, noise, voice

6. profhvthV - prophet

Grammar

1. What are the names of the three accents?

a. Acute

b. Grave

c. Circumflex

2. Syllabify the following words.

a. a[ n q r w p o V - a[n | qrw | poV

b. g r a f hv - gra | fhv

c. d a i m ov n i o n - dai | movn | i | on

d. q e ov V - qe | ovV

e. p n e u: m a - pneu: | ma

f. s av b b a t o n - savb | ba | ton

g. C r i s t ov V - Cris | tovV

h. aj g g e l iv a - ajg | ge | liv | a

i. aj k h k ov a m e n - aj | kh | kov | a | men

j. f w: V - fw:V

k. o uj d e m iv a - ouj | de | miv | a
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Vocabulary

Grammar

1. How do you tell what function a particular noun is performing in a sentence?

By looking at its case ending

2. What are the first three noun rules?

1. Stems ending in alpha (a) or eta (h) are in the first declension, stems ending 
in omicron are in the second, and consonantal stems are in the third.

2. Every neuter word has the same form in the nominative and accusative

3. Almost all neuter words end in alpha in the nominative and accusative pl

3. Write out the case endings.

1.

2.

3.

4.

5.

6.

dev

basileiva

kairovV

oujc

lovgoV

fwnhv

but, and

kingdom

(appointed) time, season

not

word, Word, statement, message

sound, noise, voice

nom sg

acc sg

nom pl

acc pl

masc

V

n

i

uV

fem

-

n

i

V

neut

n

n

a

a
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4. Write out the paradigm of the definite article, all three genders, singular and pl, 
nominative and accusative. Be sure to include breathing marks and accents.

5. What is the primary grammatical function of the nominative?

To indicate the subject of the sentence

6. What is the grammatical function of the accusative?

To indicate which word is the direct object of the sentence’s verb

Parsing

Parse the following words. Do not forget that you should tell me all five things about 
each word. Hint: aujtovn (#3) is not neuter, but you do not yet know why.

nom:

acc:

singular

masc

oJ

tovn

fem

hJ

thvn

neut

tov

tov

pl

masc

oiJ

touvV

fem

aiJ

tavV

neut

tav

tav

1.

2.

3.

4.

5.

6.

7.

ajgaphvn

tavvV

aujtovn

CristouvV

thvn

qeoiv

w{raV

case

fem

fem

masc

masc

fem

masc

fem

number

sg

pl

sg

acc

sg

pl

pl

gender

acc

acc

acc

pl

acc

nom

acc

lexical form

ajgavph

oJ

aujtovV

CristovV

oJ

qeovV

w{ra

meaning of inflected

love

the

him

Christ

the

gods

hours
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Vocabulary

Grammar

1. Write out the names of the four cases, a grammatical function of each, and the key 
words (if any). Include the proper key words if appropriate

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

ejxousiva

uiJovV

aJmartiva

dev

nu:n

mhv

oujk

o{ti

fwnhv

pneu:ma

authority, power

son, descendant, child

sin

but, and

now, as it is

not, lest

not

that, since, because

sound, noise, voice

spirit, Spirit, wind, breath, inner life

case #1

case #2

case #3

case #4

case name

Nominative

Genitive

Dative

Accusative

function

subject

possession

indirect object, 
personal 
interest

direct object

key word(s)

of

to, in, with
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2. Write out the full paradigm of all case endings, singular and pl

3. What are the fourth, fifth, and sixth noun rules

4. In the dative singular, the iota subscripts if possible

5. Vowels often change their length (“ablaut”)

6. In the genitive and dative, the masculine and neuter will always be identical

Parsing

nom:

gen:

dat:

acc:

singular

masc

V

u

i

n

fem

-

V

i

n

neut

n

u

i

n

plural

masc

i

wn

iV

uV

fem

i

wn

iV

V

neut

a

wn

iV

a

1.

2.

3.

4.

5.

6.

7.

8.

savbbata

uiJw:/

ajnqrwvpwn

qeou:

aJmartivaiV

aujtouvV

zwh:V

tavV

case

nom/acc

dat

gen

gen

dat

acc

gen

acc

number

pl

sg

pl

sg

pl

pl

sg

pl

gender

neut

masc/neut

masc

masc

fem

masc

fem

fem

lexical form

savbbaton

uiJovV

ajnqrwvpoV

qeovV

aJmartiva

aujtovV

zwh:

oJ

meaning of inflected

sabbaths

to the so 

of mankind

of God

to/with sins

them (m)

of life

the
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Vocabulary

If the preposition occurs with only one case, that case is not specified.

Grammar

1. How does the object of a preposition affect the meaning of the preposition?

It affects its meaning

2. What are the six noun rules that we know so far?

1. Stems ending in alpha or eta are in the first declension, stems ending in 
omicron are in the second, and consonantal stems are in the third.

2. Every neuter word has the same form in the nominative and accusative.

3. Almost all neuter words end in alpha in the nominative and accusative pl.

4. In the dative, singular, the iota subscripts if possible.

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

11.

12.

13.

parav (gen)

diav (acc)

ejx

provV

uJpov (acc)

metav (acc)

parav (acc)

diav (gen)

oijkiva

metav (gen)

parav (dat)

eijV

uJpov (gen)

from

on account of

from, out of

to, towards, with

under

after

alongside of

through

house, home

with

beside, in the presence of

in, into

by



Quiz key over Chapter 8

page 4

5. Vowels often change their length (“ablaut”)

6. In the genitive and dative, the masculine and neuter will always be identical

3. Write out the full paradigm for the article

4. Write out the forms of these prepositions when the word following the preposition 
begins with a vowel and a rough breathing.

a. ejk - ejx

b. metav - met j, meq j

5. Write out the paradigm for eijmiv.

nom:

gen:

dat:

acc:

neuter

masc

oJ

tou:

tw:/

tovn

fem

hJ

th:V

th:

thvn

neut

tov

tou:

tw:/

tov

pl

masc

oiJ

tw:n

toi:V

touvV

fem

aiJ

tw:n

tai:V

tavV

neut

tav

tw:n

tai:V

ta:

1st sg

2nd sg

3rd sg

1st pl

2nd pl

3rd pl

eijmiv

ei\

ejstivn

ejsmevn

ejstev

eijsivn
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Parsing

1.

2.

3.

4.

5.

6.

qalavssaV

oi[koiV

savbbata

ejxousivai

qew:/

aujtovn

case

gen

acc

dat

nom/acc

nom

dat

acc

number

sg

pl

pl

pl

pl

sg

sg

gender

fem

masc

neut

fem

masc

masc/neut

lexical form

qalavvssa

o\ikoV

savbbaton

ejxousiva

qeovV

aujtovV

meaning of inflected

of sea

seas

to the houses

sabbaths

authorities

to God

him, it
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Vocabulary

Grammar

1. Define the following terms as they are applied to adjectives.

a. Attributive - gives a quality (an attribute) to the word it is modifying

b. Predicate - asserts something about the subject; the verb “to be” is usually 
implied

c. Substantival - functions as a noun and does not modify anything

2. Write out two different ways you can say “The good man” in Greek. You can use 
either Greek or English to describe the two variations. You must use the article.

a. oJ ajgaqovV a[nqrwpoV

b. oJ a[nqrwpoV oJ ajgaqovV

3. Write out two different ways you can say “The man is good” in Greek without 
using a verb. You can use either Greek or English to describe the two variations.

a. oJ a[nqrwpoV ajgaqovV

b. ajgaqovV oJ a[nqrwpoV

1.

2.

3.

4.

5.

6.

7.

8.

ejavn

ejntolhv

i{na

kaqwvV

fwnhv

ejxousiva

uiJovV

h\n

if, when

commandment

in order that, that

as, even as

sound, nose, voice

authority, power

son, descendent

was



Quiz key over Chapter 9

page 7

4. What is “apposition”?

Apposition when two words are side-by-side, or grammatically parallel, and 
have the same referent.

5. What is the rule that determines if the feminine stem of an adjective will end in 
alpha or eta?

If the 2nd to last letter ends in r or a vowel, it will add an a

Parsing

1.

2.

3.

4.

5.

6.

ajgaqovn

aijwvnia

zwavV

kovsmouV

prwvtaV

ajllhvloiV

case 

acc

n/a

acc

acc

acc

dative

number

singular

pl

pl

pl

pl

pl

gender

neut/masc

neuter

feminine

masc

feminine

masc

lexical form

ajgaqovV

aijwvnioV

zwhv

kovsmoV

prw:toV

ajllhvlwn

meaning of inflected

good

eternal

life

world

first, earlier

to one another
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Vocabulary

Grammar

1. What is the primary difference between the three declensions? In other words, how 
can you tell what declension a noun belongs in?

a. First Declension - the stem ends in a or h

b. Second Declension - the stem ends in o

c. Third Declension - the stem ends in a consonant

2. How do you find the stem of a third declension noun?

Find the genitive singular then drop the case ending

3. What gender are all stems ending in -mat?

Neuter

4. What gender area all third declension nouns like pivstiV?

Feminine

1.

2.

3.

4.

5.

6.

7.

8.

eij

h[dh

periv (gen)

savrx

o[noma

eij mhv

ujpov (acc)

metav (acc)

if

now, already

concerning, about

flesh, body

name, reputation

if not, except

under, (gen) by

after, (gen) with
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5. Write out the square of stops and the names of the three categories.

6. What letter(s) is/are formed from the following combinations

a. nt + s = s

b. n + s = s

7. Rule 8: A Tau (t) cannot stand at the end of a word and will drop off.

Parsing

Category of Stop

Labial

Velar

Dental

unvoiced

p

k

t

voiced

b

g

d

aspirates

f

c

q

1.

2.

3.

4.

5.

6.

7.

swvmata

pa:sin

pneu:ma

o[noma

oujdeniv

sarxiv

tinovV

case

n/a

dative

n/a

n/a

dative

dative

genitive

number

pl

pl

singular

singular

singular

pl

singular

gender

nom

masc/neut

neuter

nom

masc/neut

feminine

m/f/n

lexical form

sw:ma

pa:V

pneu:ma

o[noma

oujdeivV

savrx

tivV

meaning of inflected

body

to each, to every

spirit

name

no one, nothing, none

to the flesh

of who, someone
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Vocabulary

Grammar

1. What determines the case and number of a pronoun?

a. Case: Usage

b. Number: antecedent

2. In English, what is the equivalent of the nominative and accusative cases?

a. I (subjective case)

b. Me - direct object (objective case)

3. Define “first” person and “second” person.

“First”: Person speaking

“Second”:Person spoken to

4. What is the lexical form of uJme:iV

suv

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

qevlhma

w{de

pivstiV

mhvthr

uJdwr

tiV

cavriV

eij

ejpiv (gen)

uJpov (gen)

will, desire

here

faith, belief

mother

water

someone, something

grace, favor, kindness

if

on, over, when

by
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Parsing

1.

2.

3.

4.

5.

6.

7.

ejmou:

hJmw:n

soi

uJma:V

me

patevra

pajsaiV

case

gen

gen

dat

acc

acc

acc

dat

number

sg

pl

sg

pl

sg

sg

pl

gender

n/a

n/a

n/a

n/a

n/a

masc

fem

lexical form

ejgwv

ejgwv

suv

suv

ejgwv

pathvr

pa:V

meaning of inflected

of me

of us

to you

you (pl)

me

father

to all
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Vocabulary

Grammar

1. What is the one thing that the third person personal pronoun tells us that the first 
and second cannot?

Gender

2. What is the lexical form of aujtoi:V?

aujtovV

3. aujtovV has three different uses. What are they, and how do you identify each one 
when you see it?

a. Personal Pronoun - when it is on its own; this is the most common usage

b. Adjectival Intensive “itself” - modifies a noun in the predicate position

c. Identical Adjective “same” - normally in the attributive position

4. A Greek personal pronoun can be feminine in form when it is referring to an object 
which in English is a masculine concept? What gives rise to this situation?

The word might have feminine gender

1.

2.

3.

4.

5.

didavskaloV

e{wV

ou\n

ajlla

pouvV

teacher

until (gen) as far as

therefore, then, accordingly

but, yet, except

foot
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Parsing

1.

2.

3.

4.

5.

6.

aujtw:/

aujtaiv

aujthv

uJmi:n

ejmoiv

o{son (2x)

case

dat

nom

nom

dat

dat

nom

acc

numbe
r

sg

pl

sg

pl

sg

sg

gender

masc/neut

fem

fem

n/a

n/a

masc

neut

lexical form

aujtovV

aujtovV

aujtovV

suv

ejgwv

o{soV

meaning of inflected

to him/it

them

she

you (pl)

we

as great as

as many as
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Vocabulary

Grammar

1. List the four demonstrative pronouns (two singular and two pl) in English.

a. ou|toV - this

b. ou|toi - these

c. ejkei:noV - that

d. ejkei:noi - those

2. What determines the case, number, and gender of a demonstrative pronoun?

As an adjective: The noun it modifies

As a pronoun: Its antecedent (number, gender)/usage (case)

3. What is the key difference in form between the third person personal pronoun and 
the demonstrative pronoun (not ἐκεῖνος)?

Masculine: The demonstrative begins with omicron (o) with a rough breathing, 
whereas the personal pronoun begins with alpha (a) with smooth breathing.

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

 h[

shmei:on

eJautou:

pw:V

oujdev

uJpevr (acc)

ejpiv (dat)

periv (acc)

kaqwvV

ejavn

or, then

sign, miracle

of himself, herself, etc

how

and not, not even, neither, nor

above (gen) on behalf of

on the basis of, at (gen) on, over, when (acc) on, to, against

around (gen) concerning, about

as, even as

if, when
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Feminine: The demonstrative has a rough breathing, whereas the pronoun has 
a smooth.

Neuter: The demonstrative begins with a tau (t), whereas the pronoun begins 
with alpha (a).

4. A demonstrative will be in what adjectival position when it is modifying a noun?

Predicate, although it functions as attributive.

Parsing

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

au{tai

tauvtaV

aujtav

hJmi:n

tou:ton

ejkeivnhn

tauvtaiV

megavlouV

polloi:V

ejkei:no

case

nom

acc

acc

nom

dat

acc

acc

dat

acc

dat

nom/ acc

number

pl

pl

pl

pl

sg

sg

pl

pl

pl

sg

gender

fem

fem

neut

n/a

masc

fem

fem

masc

masc/
neut

neut

lexical 
form

ou|toV

ou|toV

aujtovV

ejgwv

ou|toV

ejkei:noV

ou|toV

mevgaV

poluvV

ejkei:noV

meaning of inflected

these

these

he

to us

this

that

to these

great

to many

that
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Vocabulary

Grammar

1. What are two ways to distinguish the form of the relative pronoun from the article?

The relative pronouns always have a rough breathing mark and an accent. The 
article always has either a rough breathing mark or a tau (t), and may be 
unaccented.

2. What determines the case, number, and gender of the relative pronoun?

Case: its usage

Number and gender: its antecedent

3. Translate (not parse) the following forms of the relative pronoun. Be sure to use the 
key words, and indicate singular and pl some way.

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

eijrhvnh

ejavn

o{te

eJptav

kajgwv

rJh:ma

katav (gen)

kefalhv

ceivr

makavrioV

peace

if, when

when

seven

and I , but I

word, saying

down, from, against (acc) according to, throughout, during

head

head, arm, finger

blessed, happy

1.

2.

3.

h/{

a{

ou|

to whom, which

who(m)/which/that

of whom/which
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Parsing

4.

5.

ai|V

h{n 

to whom/which

whom/which/that

1.

2.

3.

4.

5.

6.

7.

w/|

ou{V

tauvtaiV

o{n

taivV

ajlhvqeiaV

h{n

case

dat

acc

dat

acc

dat

gen

acc

acc

number

sg

pl

pl

sg

pl

sg

pl

sg

gender

masc/neut

masc

fem

masc

fem

fem

fem

 lexical form

o{V

o{V

ouJtoV

o{V

 oJ

ajlhvqeia

o{V

meaning of inflected

to whom

whom/which/that

to these

whom/which/that

the

of truth

whom/which/that
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Vocabulary

Grammar

1. Define “agreement.” 

A verb must agree with its subject in person and number.

2. Define the three “persons” of a verb

First person: The person speaking

Second person: The person being spoken to

Third person: Everything else

3. What is the difference between “tense” and “time”?

In English, tense refers to both time and the form of the word. In Greek, tense 
refers only to the form of a verb with the aspect also implied. Time is used to 
describe when he action of that verb occurs.

4. What are the two aspects of a verb?

a. Continuous

b. Undefined 

5. What are the two voices of a verb?

a. Active

b. Passive

1.

2.

3.

4.

5.

6.

7.

ajlhvqeia

dwvdeka

ejnwvpion

ijdouv

kata (acc)

yuchv

makavrioV

truth

twelve

before

see, behold!

according to, throughout, during (gen) down, from, against

soul, life, self

blessed, happy
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6. What are the main components of a Greek verb?

a. Stem

b. Connecting vowel

c. Personal ending

7. What are the seven answers you give when you parse a verb

a. Person

b. Number

c. Tense

d. Voice

e. Mood

f. Lexical form

g. Definition of inflected form
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Vocabulary

Grammar

1. What are the three parts of a present active indicative verb?

a. Present tense stem

b. The connecting vowel

c. Personal ending (primary active)

2. What is the rule for what connecting vowel is used?

In the indicative mood, if the personal ending begins with a mu (m) or a nu (n), 
the connecting vowel is Omicron (o); the connecting vowel in every other case 
is Epsilon (e). If no personal ending is used, the connecting vowel can be either 
Omicron (o) or Epsilon (e).

3. Fill out what you know of the Master Personal Ending Chart.

1.

2.

3.

4.

5.

6.

7.

novmoV

o{pou

tovte

toflovV

carav

rJh:ma

qrovnoV

law, principle

where

then, thereafter

blind

joy, delight

word, saying

throne

1 sg

2 sg

3 sg

primary tenses

lu

lu

lu

w

eiV

ei

-

(V)

(i)

secondary tenses
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4. Write out the present active indicative of luvw.

5. What is the aspect(s) associated with the present tense?

Indicates either a continuous or undefined action

6. What is the main reason why personal pronouns are used in the nominative?

emphasis or to clarify gender

7. If a verb appears in a dependent clause, what does that tell you about the verb’s 
relation to the main subject/verb in the sentence?

8. Fill out the Master Verb Chart

1 pl

2 pl

3 pl

lu

lu

lu

omen

ete

ousi

(men)

(te)

(nsi)

1 sg

2 sg

3 sg

1 pl

2 pl

3 pl

luvw

luveiV

luvei

luvomen

luvete

luvousi(n)

tense

present act

aug./ 
redup tense stem

pres.

tense. 
form

conn. 
vowel

o/e

personal 
endings

primary 
active

1st sg paradigm

luvw
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Parsing

1.

2.

3.

4.

5.

6.

7.

ajkouveiV

pisteuvousin

blevpomen

e[cei

pisteuvvw

luvete

ajkouvousi

case per.

2

3

 1

3

1

2

3

num

sg

pl

pl

sg

sg

pl

pl

gen. tense

pres

pres

pres

pres

pres

pres

pres

voice

act

act

act

act

act

act

act

mood

ind.

ind.

ind.

ind

ind

ind

ind

lexical 
form

ajkouvw

pisteuvw

blevpw

e[cw

pisteuvw

luvvw

ajkouvw

meaning of 
inflected

you hear

they believe 

we see

he has

I believe

you all loose

they hear
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Vocabulary

Grammar

1. What is a contract verb?

A contract verb is a verb whose stem ends in epsilon (e) or omicron (o)

2. What are the tree possible contract vowels?

a. a

b. e

c. o

3. Write out the five basic rules of contraction of single vowels.

4. Write out all the possible vowel contractions that contract to the following:

1.

2.

3.

4.

5.

ajgapavw

daimovnion

plhrovw

poivew

lalevw

I love, cherish

demon

I fill, complete, fulfill

I do, make

I speak, say

1.

2.

3.

4.

5.

ou is formed from eo, oe, and oo

ei is formed from ee

w is formed from almost any combination of o or w except rule 1

a is formed from ae

h is formed from ea

a.

b.

c.

ao

ea

aa

w

h

a
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5. What vowels could possibly have contracted to the following forms. If there is 
more than one possible option, you only need to list one. Where I list the same 
contraction (ou), do not give the same answer as before.

Parsing

d.

e.

f.

oe

ee

oo

ou

ei

o, ou

a.

b.

c.

d.

e.

f.

h

ou

ou

ou

ei

w

ea

eo, oe, oo

eo, oe, ou

eo, oe, ou

ee

ao, aoo

1.

2.

3.

4.

5.

6.

7.

ajgapa:/

zhtou:men

plhroi:

oi[date

a{

lalei:V

eJnovV

case per.

3

1

3

2

n/a

2

gen

num.

sg

pl

sg

pl

pl

sg

sg

gen. tense

pres

pres

pres

pres

neut

pres

m/n

voice

act

act

act

act

act

mood

ind

ind

ind

ind

ind

lexical form

ajgapavw

zhtevw

plhrovw

oi\da

oJV

lalevw

ei|V

meaning of 
inflected

he loves

we seek, desire

he fills, completes

you all know, 
understand

which

you speak

of one
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Vocabulary 

Grammar

1. What are the three parts of the present passive indicative?

a. Present tense stem

b. Connecting vowel

c. Primary passive personal endings 

2. Fill out what you know of the Master Personal Ending Chart

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

ajpokrivnomai

dei:

e[rcomai

poreuvomai

w{ra

o{stiV

nuvx

poievw

tovpoV

sunavgw

I answer

it is necessary

I come, I go

I go, I proceed, I live

hour, occasion, moment

whoever, whichever, whatever

night

I do, I make

place, location

I gather together, invite

1 sg

2 sg

3 sg

1 pl

primary tenses

lu

lu

lu

lu

-

V

i

men

secondary tenses
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page 2

3. Write out the present/middle passive of luvw.

4. What is a deponent verb?

A deponent verb is ends with a middle/passive ending, but is active in 
translation

2 pl

3 pl

1 sg

2 sg

3sg

1 pl

2 pl

3 pl

lu

lu

lu

lu

lu

lu

lu

lu

te

nsi

mai

sai

tai

meqa

sqe

ntai

1 sg

2 sg

3sg

1 pl

2 pl

3 pl

luvomai

luvh/

luvetai

luovmeqa

luvesqe

luvontai
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5. Fill out the Master Verb Chart

Parsing 

tense

present active

present mid/pass

aug./redup. tense stem

present

present

tense 
form.

conn. 
vowel

o/e

o/e

personal endings

prim act

prim mid/pass

1st sg 
paradigm

luvw

luvomai

1.

2.

3.

4.

5.

e[rcetai

pisteuvh/

lalou:men

ajgapwvmeqa

ajpokrivnontai

case 
per.

3

2

1

1

3

num

sg

sg

pl

pl

pl

gen. 
tense

pres

pres

pres

pres

pres

voice

deponent

m/p

act

m/p

deponent

mood

indic

indic

indic

indic

indic

lexical form

e[rcomai

pisteuvw

lalevw

ajgapavw

ajpokrivnomai

meaning of 
inflected

he goes

you have 
believed

we speak

we are loved

they answered



Quiz key over Chapter 19

page 1

Vocabulary

Grammar

1. What are the four parts that make up the future active indicative?

a. Future active tense stem

b. Tense formative (s)

c. Connecting vowel

d. Primary active personal endings

2. Write out the paradigm for the future active of luvw.

1.

2.

3.

4.

5.

6.

ajkouvw

swv/zw

e[rcomai

poreuvomai

bavllw

mevnw

I hear, learn, obey, understand

I save, deliver, rescue

I come, go

I go, I proceed, I live

I throw

I remain, I live

1 sg

2 sg

3 sg

1 pl

2 pl

3 pl

luvsw

luvseiV

luvsei

luvsomen

luvsete

luvsousi(n)



Quiz key over Chapter 19
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3. Write out the paradigm for the future middle of luvw.

4. Write out the paradigm for the future active of eijmiv.

5. How can you tell if the future of a verb is deponent or not?

You need to look in the lexicon and see if it has a middle/passive ending in the 
lexical form.

6. What happens to a contract verb in the future?

The contract vowel lengthens before a tense formative.

1 sg

2 sg

3 sg

1 pl

2 pl

3 pl

lusovmai

luvsh/

luvsetai

luvsomeqa

luvsesqa

luvsontai

1 sg

2 sg

3 sg

1 pl

2 pl

3 pl

e[somai

e[sh/

e[sotai

ejsovmeqa

e[sesqe

e[sontai
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page 3

7. Complete the following chart. It shows what happens to the final consonant of a 
stem in the future when that consonant is a stop.

Labial + sigma (s): y

Velar + sigma (s): x

Dental + sigma (s): s

8. Fill out the Master Verb Chart

Parsing

tense

future act

future mid/pass

aug./ 
redup

tense 
stem

fut act

fut act

tense 
form.

s

s

conn. 
vowel

o/e

o/e

personal endings

primary act.

primary mid/pass

1st sing paradigm

luvsw

luvsomai

1.

2.

3.

4. 

5.

pisteuvsomen

baptivsei

poiouvmeqa

au{th

ajgaphvsete

case 
per.

1st

3rd

1st

nom

2nd

num.

pl

sg

pl

sg

pl

gen. 
tense

fut

fut

pres

fem

fut

 voice

act

act

m/p

act

mood

ind

ind

ind

ind

lexical 
form

pisteuvw

baptivzw

poievw

ouJtoV

ajgapvw

meaning inflected 
form

we will believe

we will be baptized

we will make

this

you will love
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Vocabulary

Grammar

1. Define the difference between “root” and “stem.”

The root is, of a verb, is its most basic form

The stem is the most basic form in that particular tense

2. What are the four parts of a liquid future active verb?

a. Future active tense stem

b. Tense formative (es)

c. Connecting vowel

d. Primary active personal endings

3. How do you explain the variation between e[rcomai (present) and ejleuvsomai 
(future)?

They have different roots!

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

ai[rw

ginwvskw

glw:ssa

ejgeivrw

ejkei:

laovV

poievw

ajkouvw

sunavgw

o{stiV

I raise, take up, take away

I know, come to know, realize, learn

tongue, language

I raise up, wake

there

people, crowd

I do, make

I hear, learn, obey, understand

I gather together, invite

whoever, whichever, whatever
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4. What are the roots of the following verbs?

5. Fill out the Master Verb Chart

Parsing

Extra Credit

1. What is the “consonantal iota”?

A use of i that dropped out of usage but still affects the form of a word

a.

b.

c.

d.

e.

f.

g.

luvw

e[rcomai

ejleuvsomai

o[yomai

ajpokteivnw

baptivzw

ginwvskw

lu

erc

eleuq

op

apokten

baptid

gnw

tense

liquid fut act

liquid fut mid

aug./
redup.

tense 
stem

fut act

fut act

tense 
form.

es

es

conn. 
vowel

o/e

o/e

personal endings

primary act

primary mid/pass

1st sg paradigm

mevnw

mevnoumai

1.

2.

3.

4.

ejleuvsetai

krinei:

o[yontai

poiou:men

case
per.

3 

3

3

1 

num.

sg

sg

pl

pl

gen.
tense

fut

fut

fut

pres

voice

dep

act

dep

act

mood

indic

indic

indic

ind

lexical form

ejleuvsomai

krivnw

oJravw

poievw

meaning of inflected

he will come

he will judge

they will see

we will do/make
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2. Verbs whose present tense stem end in izw or azw have roots that really end in what 
class of stops?

Dental

3. Verbs whose present tense stem ind in assw have roots that really end in what 
class of stops? Velar
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Vocabulary

Grammar

1. How do you translate the imperfect?

Continuous action in the past

2. What are the four parts of the verb in the imperfect?

a. Augment

b. Present tense stem

c. Connecting vowel

d. Secondary active personal endings

3. What is the main difference between a primary and secondary tense? (The answer 
is not that they use different personal endings).

The secondary tense endings use an augment

1.

2.

3.

4.

5.

6.

7.

8.

9.

10. 

ajkolouqevw

ginwvskvw

qevlw

naovV

Ioudai:oV

pavlin

ou\n

qavlassa

pw:V

wJV

I follow, I accompany

I know, come to know, realize, learn

I will, wish, desire, enjoy

temple

a Jew

again

therefore, then, accordingly

sea, lake

how

as, like, when, that, how, about
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4. Write out the paradigm of the imperfect, active and passive.

5. What are the two basic rules for augmentation?

a. If the word starts with a consonant, the augment is e

b. If the word starts with a vowel, the vowel lengthens

6. how do you augment a compound verb?

The augment comes after the preposition and before the stem of the verb.

7. Fill out the Master Verb Chart

Parsing

1 sg

2 sg

3 sg

1 pl

2 pl

3 pl

active 

e[luon

e[lueV

e[lue(n)

ejluvomen

ejluvete

e[luon

passive

ejluovmhn

ejluvou

ejluveto

ejluovmeqa

ejluvesqe

ejluvonto

tense

imperfect act

imperfect mid/pas

aug./
redup.

e

e

tense 
stem

pres

pres

tense 
form.

conn. 
vowel

o/e

o/e

personal 
endings

sec act

sec m/p

1st sg paradigm

e[luon

ejluovmhn

1.

2.

3.

mevllontai

ginwvsh/

ejginovmhn

case 
per.

3

2

1

num.

pl

sg

sg

gen. 
tense

pres

fut

imp

voice

m/p

dep

dep

mood

I

I

I

lexical 
form

mevllw

ginwvskw

givnomai

meaning of inflected

they are about to be

you will know

I was becoming
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4. hJgavpwn
1

3

sg

pl
imp act I ajgapavw

I was loving

they were being loved



Quiz key over Chapter 22
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Vocabulary

Write out the tense stems used in the present and the aorist

Grammar

1. What is the difference between and “weak” and a “strong” verb in English?

A weak verb adds “ed” on the end to indicate past tense. A strong verb changes 
its stem.

2. What is the basic meaning of the aorist?

An undefined action that usually occurs in the past

3. What are the four parts of the aorist active verb?

a. Augment

b. Aorist active tense stem

c. Connecting vowel

d. Secondary active personal endings

1.

2.

3.

4.

5.

6.

7.

ajpoqnh/vskw

e[rcomai

levgw

e[cw

ejsqivw

ajmartavnw

ginwvskw

present tense stem

apoqan

erc

leg

ec

esq

amart

ginw

aorist tense stem

apoqan

eleuq

eip

eic

fag

amart

ginw
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4. Fill out the Master Verb Chart

Parsing

tense

2 aor act

2 aor mid

aug./redup.

e

e

tense stem

aor act

aor act

tense form. conn. vowel

o/e

o/e

personal 
endings

sec act

sec m/p

1st sg 
paradigm

e[labon

ejgenovmhn

1.

2.

3.

4.

5.

6.

7.

e[baleV

e|ureV

a[rtou

givnesqe

e[gnw

proseuvxetai

e[scete

case
per.

2

2

g

2

3

3

2

num
.

sg

sg

sg

pl

sg

sg

pl

gen.
tense

aor

aor

m

pres

aor

fut

aor

voice

act

act

dep

act

dep

act

mood

ind

ind

ind

ind

ind

ind

lexical form

bavllw

euJrivskw

a[rtoV

givnomai

ginwvskw

proseuvcomai

e[cw

meaning of inflected

you threw

you found

of bread

you (pl) become

he knew

he will ray

you had
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Vocabulary

Write out the second aorists (1st person singular) and the tense stems for the present 
and second aorist

Grammar

1. What are the four parts of a first aorist active verb?

a. Augment

b. Aorist Active tense stem

c. Tense formative (sa)

d. Secondary Active personal endings

2. What happens to a stem whose final consonant is a stop when followed by the first 
aorist tense formative?

Labial: f

Velar: x

Dental: drops off

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

e[rcomai

gravfw

lambavnw

qevlw

didavskw

khruvssw

mevnw

ejgeivrw

kalevw

proseuvcomai

second aorist 1st sg

h\lqon

ejgravfhn

e[labon

hjqevlhsa

ejdivdaxa

ejkhvruxa

e[meina

h[geira

ejkavlesa

proshuxavmhn

present tense stem

erc

graf

lambon

qel

didask

khrug

men

eger

kale

proseuc

aorist tense stem

eleuq

graf

lab

(e)qel

didask

khrug

mein, men

egeir, eger

kale

proseux (deponent)
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3. What is the tense formative for a liquid aorist?

a

4. Fill out the Master Verb Chart

Parsing

tense

1 aor act

1 aor mid

aug./redup.

e

e

tense 
stem

aor act

aor act

tense 
form.

sa

sa

conn. 
vowel

personal 
endings

sec act

sec m/p

1st sg paradigm

e[lusa

e[lusamhn

1.

2.

3.

4.

5.

ejpivsteusen

ejzhthvsate

h\lqan

ejgevneto

ejbavptisaV

case
per.

3

2

3

3

2

num.

sg

pl

pl

sg

sg

gen. 
tense

aor

aor

aor

aor

aor

voice

act

act

act

dep

act

mood

ind

ind

ind

ind

ind

lexical form

pisteuvw

zhtevw

e[rcomai

givnomai

baptivzw

meaning of inflected

he believed

you sought

they went

he became

you baptized
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Vocabulary

Grammar

1. What are the four parts of a first aorist passive verb?

a. Augment

b. aorist passive stem

c. tense formative (qh)

d. secondary active personal endings

2. What is the tense formative for the second aorist passive?

Eta (h)

3. Identify the tense, voice, and lexical form of the following verbs.

1.

2.

3.

4.

5.

e{kastoV

iJmavtion

o[rouV

gravfw

duvnamiV

each, every

cloak, garment

of a mountain

I write

power, miracle

a.

b.

c.

d.

e.

f.

g.

h.

ejgennhvqhn

ejbaptivsqhn

hjqelhvqhn

ejgnwvsqhn

ejkhruvcqhn

didacqhvsomai

ejgravfhn

ajpestavlhn

tense

Aorist

Aorist

Aorist

Aorist

Aorist

Future

Aorist

Aorist

voice

Passive

Passive

Passive

Passive

Passive

Passive

Passive

Passive

lexical

gennaw

baptizw

qelw

ginwskw

khrussw

didaskw

grafw

ajpostellw
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4. Fill out the Master Verb Chart

Parsing

i.

j.

ajpoktavnqhn

peripathqhvsomai

Aorist

Future

Passive

Passive

ajpokteinw

peripatew

tense

1 aor pass

2 fut pass

aug./ 
redup.

e

tense stem

aorist pas

aorist pas

tense 
form.

qh

hV

conn. 
vowel

o/e

personal 
endings

sec act

prim m/p

1st sg paradigm

ejluqhn

ajpostalhsomai

1.

2.

3.

4.

5.

6.

7.

h[cqhV

ejlhvmfqhsan

fobhqhvsetai

ejcavrhn

ajpostalhvsesqe

ejswvqhn

eijshvlqete

case
per.

2

3

2 

1

2

1

2

num.

sg

pl

sg

sg

pl

sg

pl

gen.
tense

aor

aor

fut

aor

fut

aor

aor

voice

pas

pass

pass

pass

pas

pass

act

moo
d

ind

ind

ind

ind

ind

ind

ind

lexical form

ajgw

lambanw

fobeomai

cai√rw

ajpostellw

swzw

eiserjcomai

meaning of inflected

you were led

they were taken

he will be feared

I was rejoiced

you will be sent

I was saved

you went into
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Vocabulary

Grammar

1. What is the basic significance of the perfect tense?

completed action; present consequences

2. What are the four parts of a perfect active verb?

a. Reduplication

b. Perfect active tense

c. tense formative ka

d. Primary active personal endings

3. What are the two basic rules for reduplication in the perfect?

a. duplicate initial consonant; separate with epsilon (consonantal)

b. lengthen initial vowel (vocalic)

4. Identify the tense, voice, and lexical form of the following inflected forms.

1.

2.

3.

4.

5.

ma:llon

aijtew

uJpavgw

doxavzw

e[ti

more, rather

I ask, demand

I depart

I praise, honor, glorify

still, yet, even

a.

b.

c.

d.

e.

ajpekrivqhn

e[balon

ejgnwvsqhn

hjgavphmai

kevklhka

tense

aorist

aorist

aorist

perfect

perfect

voice

deponent

active

deponent

passive

active

lexical

ajpokrinomai

ballw

ginwskw

ajgapaw

kalew
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4. Fill out the Master Verb Chart

Parsing

f.

g.

h.

i.

j.

k.

l.

m.

n.

o.

ejgevnnhsa

eu|ron

ajrw:

ejrwthvsw

ajkhvkoa

ajpevqanon

e[scon

ejbavptisa

peripathqhvsomai

h[cqhn

aorist

aorist

future

future

perfect

aorist

aorist

aorist

future

aorist

active

active

active

active

active

active

active

active

passive

passive

gennaw

euJriskw

aijrw

ejrwtaw

ajkouw

ajpoqnh/skw

ejcw

baptizw

peripatew

ajgw

tense

perf act

perf pass

aug./redup.

lu

lu

tense stem

perf act

perf m/p

tense form.

ka

conn. vowel personal 
endings

prim act

prim pas

1st sg 
paradigm

leluka

lelumai

1.

2.

3.

4.

5.

memartuvrhke

hj/thvkasin

pepivsteutai

pepoivhmai

ajkhkovamen

case
per.

3

3

3

1

1

num.

sg

pl

sg

pl

pl

gen.
tense

perf

perf

perf

perf

perf

voice

act

act

m/p

m/p

act

mood

ind

ind

ind

ind

ind

lexical form

marturew

aijtew

pisteuw

poiew

ajkouw

meaning of inflected

he has witnessed

they have requested

he has been believed 

I have been made

we have heard



Quiz key over Chapter 26

page 7

Grammar

1. What is the two-word definition of a participle?

Verbal adjective

2. The participle and its modifiers are called a ___Participial phrase__.

3. The primary significance of a participle is its _____aspect_____.

4. What determines the tense of a participle?

Its tense stem

5. What determines the voice of a participle?

Its morpheme

6. Most participles are negated by _____mh_____.

7. What determines the case, number, and gender of the participle? (The answer is 
not, “Its case endings.”)

The word it modifies
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page 1

Vocabulary

Grammar

1. What are the four parts to the present active participle?

a. Present tense stem

b. Connecting vowel (o)

c. Participle morphemes (nt)

d. Case endings [third declension]

2. What are the four participle morphemes, and when are they used?

3. What are the six forms you memorized for the present active participle of luvw?

1.

2.

3.

4.

5.

6.

ajnabaivnw

kavqhmai

parakalevw

a{ptw 

didavaskw

pisteuvw

I go up, come up

I sit (down), live

I call, urge, exhort, comfort

I kindle; middle: touch, take hold of

I teach

I believe, have faith (in), trust

1.

2.

3.

4.

nt

ousa

meno, h

ot

active, masculine and neuter

active, present, feminine

middle/passive

active, perfect

nom sg

gen sg

masculine

wn

ontoV

feminine

ousa

oushV

neuter

on

ontoV



Quiz key over Chapter 27

page 2

4. What are the six forms you memorized for the present passive participle of luvw?

5. What is the primary significance of a present participle?

Continuous action (p. 246, 27.1.b)

6. What determines the case, number, and gender of the present participle?

The noun or pronoun it modifies

7. The adverbial participle will usually be preceded by the article.

a. True

b. False - it is always anarthrous (27.1.f)

Parsing

nom sg

gen sg

masculine

omenoV

omenou

feminine

omenh

omenhV

neuter

omenon

omenou

1.

2.

3.

4.

5.

6.

7.

pisteuvwn

ballovntwn

gravfousin

ajkouovmena

poioumevnhV

o[nti

luqhvsetai

case
per.

nom

gen

dat

nom/acc

gen

dat

3

num.

sg

pl

pl

pl

sg

sg

sg

gen.
tense

masc/pres

masc-neut/
pres

masc-neut/
pres

neut/pres

fem/pres

masc-neut/
pres

fut

voice

act

act

act

pass

pass

act

pass

mood

part

part

part

part

part

part

ind

lexical 
form

pisteuw

ballw

grafw

akuow

poiew

eijmiv

luw

meaning of 
inflected

while believing

while throwing

while writing

while being 
heard

while being 
made

while being

he will be 
loosed
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Vocabulary

Grammar

1. What is the basic significance of the aorist participle?

Undefined action

2. The first aorist participle is formed of what parts?

Unaugmented first aorist tense stem + tense formative + participle 
morpheme + case endings

3. The second aorist participle is formed of what parts?

Unaugmented second aorist stem + connecting vowel + participle morpheme 
+ case endings

4. What are the six forms you memorized for the aorist active participle of luvw?

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

grammateuvV

iJerovn

paidivon

w{ste

katabaivnw

parakalevw

dexiovV

aijtevw

ma:llon

marturevw

scribe

temple

child, infant

therefore, so that

I go down, come down

I call, urge, exhort, comfort

right

I ask, demand

more, rather

I bear witness, testify

nom sg

gen sg

masculine

saV

santoV

feminine

sasa

sashV

neuter

san

santoV
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5. What are the six forms you memorized for the aorist passive participle of gravfw?

Parsing

nom sg

gen sg

masculine

feiV

fentoV

feminine

feisa

feishV

neuter

fen

fentoV

1.

2.

3.

4.

5.

6.

7.

8.

luvsanti

pisteusamevnoiV

poihqei:sai

ajnabaivnonta

e[lqonteV

grafevnti

ejperwtwmevnh/

ou\san

case.
per

dat

dat

nom

acc 

nom-
acc

nom

dat

dat

acc

num.

sg

pl

pl

sg-pl

pl

pl

sg

sg

sg

gen.
tense

aor-masc-
neut

aor-masc-
neut

aor-fem

pres-masc

neut

aor-masc

aor-masc-
neut

aor-fem

pres-fem

voice

act

mid

pass

act

act

pass

mid

act

mood

part

part

part

part

part

part

part

part

lexical 
form

luw

pisteuw

poiew

ajnabainw

ejrcomai

grafw

ejperwtaw

 eijmiv

meaning of 
inflected

after loosing

after being 
believed

after being 
made

while going up

after going

after being 
written

after being 
questioned

while being
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page 5

Vocabulary

Grammar

1. What is a major clue that a participle is being used adjectivally?

It will usually have an article

2. How can you tell if a participle is being used substantivally?

There is not a noun for it to modify with which it agrees in case, number, and 
gender

Parsing

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

devcomai

ejsqivw

fevrw

ejpiv (acc)

kavqhmai

euJrivskw

parav (acc)

kravzw

periv (gen)

w{ste

I take, receive

I eat.

I carry, bear, produce

on, to, against

I sit (down), live

I find

alongside of

I cry out, call out

concerning, about

therefore

1. kravzon

case
per.

acc

nom

num.

sg

gen.
tense

neut

masc

voice

pres
act

mood

part

lexical form

krazw

meaning of 
inflected

while crying 
out
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2.

3.

4.

5.

6.

7.

8.

9.

10.

favgonta

devdegsai

katabainouvsai
V

aijtouvmenon

e]fage

paralavbwn

marturhqevnti

h[negkaV

ejfobhvqhsan

acc
masc

nom
acc

2

dat

nom

acc

3

nom

dat

2

3

pl

sg

sg

pl

sg

sg

sg

sg

sg

pl

aor

perf

pres
fem

pres 
masc

neut 
masc

aor

aor
masc

aor-
masc-
neut

aor

aor

act

dep

act

mid

act

act

pass

act

pass

part

ind

part

part

ind

part

part

ind

ind

ejsqiw

decomai

katabainw

aijtew

ejsqiw

paralambanw

marturew

ferw

fobeomai

having eaten

you have 
taken

while going 
down

while being 
asked

he ate

I take, take 
over

having been 
testified

you brought

they were 
feared
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Vocabulary

Grammar

1. If a participle is used as a noun, what determines its case, number, and gender?

Function in the sentence

2. What determines the case, number, and gender of an adverbial participle?

The word it modifies.

3. What is a genitive absolute?

A noun or pronoun and a participle in the genitive that are not grammatically 
connected to the rest of the sentence. (30.9)

4. What case will the “subject” of the participle be in a genitive absolute?

genitive

5. How do you form the periphrastic future?

Future of eijmi + present participle (30.14)

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

ejsqivw

fevrw

kravzw

wJste

parakalevw

devcomai

ajnabaivnw

ma:llon

diov

tovte

I eat

I carry, bear, produce

I cry out, call out

Therefore, so that

I call, urge, exhort, comfort

I take, receive

I go up, come up

more, rather

therefore, for this reason

Then, thereafter
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6. Write out the following nominative and genitive singular participle forms you 
memorized.

pres act

pres mid

1 aor acdt

2 aor mid

1 aor pass

perf act

masculine

wn

ontoV

omenoV

omenou

saV

santoV

omenoV

omenou

qeiV

qentoV

kwV

kotoV

feminine

ousa

oushV

omenh

omenhV

sasa

sashV

omenh

omenhV

qeisa

qeishV

kuia

kuiaV

neuter

on

ontoV

omenon

omenou

san

santoV

omenon

omenou

qen

qentoV

koV

kotoV
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Parsing

1.

2.

3.

4.

5.

6.

7.

lelukuia/

pepisteukovteV

ejgnwmevnou

ijdovntaV

ajnabebhkwvV

fagou:sin

legomevnou

case
per.

dat

nom

gen

acc

nom

date

gen

num.

sg

pl

sg

pl

sg

pl

sg

gen.
tense

pef-fem

perf-masc

aor-masc-
neut

aor-masc

perf-masc

aor-masc-
neut

pres-masc-
neut

voice

act

act

mid

act

act

act

m/p

moo
d

part

part

part

part

part

part

part

lexical 
form

luw

pisteuw

ginwskw

oJraw

ajnabainw

ejsqiw

legw

meaning of 
inflected

having loosed

having believed

after knowing 
for himself

after seeing

having come up

after eating

while being 
spoken (to)



Quiz key over Chapter 31
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Vocabulary

Grammar

1. What kind of action is described by the subjunctive?

a. Present tense - continuous action

b. Aorist tense - undefined action

2. What are the three parts of a present subjunctive verb?

Present tense stem + lengthened connecting vowel (w/h) + Primary personal 
endings

3. What are the four parts of an aorist subjunctive verb

Unaugmented aorist tense stem + (tense formative +) lengthened connecting 
vowel + primary personal endings

4. Define the “axiomatic” use of the subjunctive.

A general condition whose truth is timeless: “If I sin, God still loves me.”

5. Define the “hortatory” subjunctive.

An exhortation, translated “Let us…”: “Let us pray.”

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

livqoV

movnoV

toiou:toV

tiV

periv (gen)

ajnhvr

Ioudai:oV

e{wV

w{ra

didavskw

stone

alone, only

such, of such a kind 

some-certain-any/one/thing

concerning, about

man, male, husband

Jewish, Jew

conj: until prep w/gen: as far as

hour, occasion, moment

I teach



Quiz key over Chapter 31

page 2

6. What are the three “signs” of the subjunctive?

a. Follows i{na, ejavn, a[n and other words

b. Lengthened connecting vowel

c. No augment in the aorist

Parsing

1.

2.

3.

4.

5.

6.

7.

luvh/V

ejkbalw:sin

grafh:te

peripathvswmen

h\te (2x)

e[lqh/

gnwvsetai

case
per.

2

3

2

1

2

3

3

num.

sg

pl

pl

pl

pl

sg

sg

gen. 
tense

pres

aor

pres

aor

imp

aor

fut

voice

act

act

act

act

act

act

dep

mood

subj

subj

subj

subj

ind/
subj

subj

ind

lexical form

luvw

ejkballw

gravfw

peripatevw

eijmi

e[rcomai

ginwvskw

meaning of inflected

you may loose

they may throw

you may write

we may walk 
around

you may be

he may come

he will know
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page 1

Vocabulary 

Grammar 

1. An infinitive is defined as a(n) _________verbal noun_______.

2. The “subject” of an infinitive is the ______accusative_____case. 

3. The infinitive occurs in which three tenses?

a. Present

b. Aorist

c. Perfect

4. All non-indicative verbal forms are negated not by ouJ but by ____mhv____.

5. How do you translate the following prepositions when they occur with an articular 
infinitive?

a. diav - because

b. ejV - in order that

c. provV - in order that 

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

pevmpw

divkaioV

peivqw

grammateuvV

marturevw

pivnw

o{stiV

qevlw

e;perwtavw

stovma

I send

righteous, right, just

I persuade

scribe

I bear witness, testify

I drink

whoever, whichever, whatever

I will, wish, desire, enjoy

I ask (for), question, demand of

mouth
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6. A common way of indicating “result” is with what verbal construction?

w{ste followed by an infinitive

7. Fill out the Infinitive Chart

Parsing 

active

middle

passive

present

ein

esqai

esqai

first aorist

sai

sasqai

qhnai

second aorist

ein

esqai

hnai

perfect

kenai

sqai

sqai

1.

2.

3.

4.

5.

6.

7.

mevllein

pevmyai

devcesqai

marturhvsw

ejnecqh:nai

ai[thte

fagei:n

case
per.

1

2

num.

sg

pl

gen. 
tense

pres

aor

pres

fut

aor

pres

aor

voice

act

act

dep

act

pas

act

act

mood

inf

inf

inf

ind

inf

subj

inf

lexical 
form

mellw

pempw

decomai

marturew

ferw

ai[tew

ejsqiw

meaning of inflected

to be about to

to send

to be taken, received

I will witness

to be carried

you may ask

to eat
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Vocabulary 

Grammar 

1. How do you translate the third person imperative?

Use the key words “let” or “must” + third person pronoun + verb

2. What is the difference in time significance between the present and the aorist 
imperative?

Present indicates continuous action, aorist indicates undefined action

3. Fill out the Imperative Morpheme Chart

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

caivrw

paidivon

w{ste

iJmavtion

ajpevrcomai

a[rtoV

ajkolouqevw

glw:ssa

karpovV

novmoV

I rejoice

child, infant

therefore, so that

garment, cloak

I depart

bread

I follow, accompany

tongue, language

fruit, crop, result

law, principle

2 sg

3sg

2 pl

3pl

active and aorist passive

?

tw

te

twsan

middle/passive

?

sqw

sqe

sqwsan
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Parsing

1.

2.

3.

4.

5.

6.

7.

8.

blepevtw

lu:sai (2x)

lalhvtwsan

khvruxon

i[dete

sunavgou

grafh:nai

genna:te

case
per.

3

2

3

2

2

2

2

num.

s

s

pl

s

pl

s

pl

gen. 
tense

pres

aor

pres

aor

aor

pres

aor

pres

voice

a

m

a

a

a

a

m/p

p

a

mood

imp

imp

inf

imp

imp

imp

imp

inf

imp

lexical form

blevpw

luvw

lalevw

khruvssw

oJravw

sunavgw

gravfw

gennavw

meaning of inflected

let him see!

loose!

to loose

let them speak!

(you) proclaim!

(you) see!

(You ) gather together! 
(You) be gathered!

to be written

 (You) produce!
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Vocabulary

Grammar

1. What are the five rules governing the formation of mi verbs?

a. mi verbs reduplicate their initial stem letter to form the present, and separate 
reduplicated consonant with an iota (i)

b. mi verbs do not ordinarily use a connecting (i.e., “thematic”) vowel in the 
indicative

c. mi verbs employ three different personal endings in the present active 
indicative

d. the stem vowel of mi verbs can lengthen, shorten or drop out (ablaut)

e. most of the mi verbs use ka as their tense formative in the aorist.

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

divdwmi

dokevw

paradivdwmi

loipovV

o[roV

ajpevrcomai

uJpavgw

parakalevw

e[qnoV

parav (acc)

I give (out), entrust, give back, put

I think, seem

I entrust, hand over, betray

remaining, (the) rest; for the rest, henceforth

mountain, hill

I depart

I depart

I call, urge, exhort, comfort

nation, the Gentiles

alongside of
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Parsing

1.

2.

3.

4.

5.

6.

7.

8.

divdwV

e[dwken

devdwkan

didovasin

ejdivdoun

ejdivdaskeV

lambavnou

labei:n

case
per.

2

3

3

3

1

3

2

2

num.

sg

sg

pl

pl

sg

pl

sg

sg

gen.
tense

pres

aor

perf

pres

imp

imp

pres

aor

voice

act

act

act

act

act

act

m/p

act

mood

ind

ind

ind

ind

ind

ind

imp

inf

lexical form

didwmi

didwmi

didwmi

didwmi

didwmi

didaskw

lambanw

lambanw

meaning of inflected

you give

he gave

they have given

they give

I was giving

they were teaching

you be taken!

to take, receive
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Vocabulary

Grammar

1. What are the roots of the following verbs?

a. tijqhmi - qe

b. i{sthmi - sta

c. deivknumi - deiknu

d. ajpovllumi - ajp ojl

e. ajnivsthmi - ajnav sta

2. What are the five rules governing the formation of mi verbs?

a. mi verbs reduplicate their initial stem letter to form the present, and separate 
reduplicated consonant with an iota (i)

b. mi verbs do not ordinarily use a connecting (i.e., “thematic”) vowel in the 
indicative

c. mi verbs employ three different personal endings in the present active 
indicative

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

ajnivsthmi

ajnoivgw

ajfivhmi

i[dioV

mevsoV

pivptw

fhmiv

deivknumi

ajrchv

gunhv

intrans: I rise, get up ; transitive: I raise

I open

I let go, leave, permit

one’s own

middle, in the midst

I fall

I say, affirm 

I show, explain

beginning, ruler

woman, wife



Quiz key over Chapter 36

page 2

d. the stem vowel of mi verbs can lengthen, shorten or drop out (ablaut)

e. most of the mi verbs use ka as their tense formative in the aorist.

Parsing

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

i{state

tivqemen

deivknousi

didw:/V

tiqevtw

ajnivsthsi

qevtw

sthvsousi

e[qhke

e[sthse

case
per.

2

1

3

2

3

3

3

3

3

3

num.

pl

pl

sg

sg

sg

sg

sg

pl

sg

sg

gen.
tense

pres

pres

pres

pres

pres

pres

aor

fut

aor

aor

voice

act

act

act

act

act

act

act

act

act

act

mood

ind

ind

ind

subj

imp

ind

imp

ind

ind

ind

lexical form

i{sthmi

tivqhmi

deivknumi

divdwmi

tivqhmi

ajnivsthmi

tivqhmi

i{sthmi

tivqhmi

i{sthmi

meaning of inflected

I stood, caused to 
stand

we are putting

he is showing

you give out, entrust, 
give back, put

he placed!

he is rising, getting up, 
raising

let him put!

they will stand

he placed

he stood


